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لایه های معماری کامپیوتر

Instruction Set Architecture (ISA)

Micro-Architecture

Register Transfer Level (RTL)

Operating System/ Compiler

Gate Level (Digital logic)
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 Datapath ( )

The ALU, registers and logic to perform operations on them

 Control unit ( )

Generates signals to control datapath

Accepts status signals to perform sequencing

Control

unit
Data Path

دو بخش اساسی یک پردازنده
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زبان انتقال رجیستر

:

RTL

datapathRTL
RTL

RTL (Register Transfer Language)

Micro Operation

Shift , Load , Clear , Inc , Dec 
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RTL (Register Transfer Language)زبان انتقال رجیستر

RTL
data-path


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RTLقوانین 

:

MAR=Memory Address Register PC= Program Counter

IR= Instruction Register R1=( )

PC

34567 012 n0n-1

715 8

PC(L)PC(H)

0

PC(H)= PC(8-15)

PC(L)= PC( 0-7 )
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:

R2  R1

R1R2R1
R2R1

R1R2

R2Parallel Load

RTLقوانین 



R1   R1+R2,  R3  0



8

یکنترلتابع

:

P: R2  R1

If (P=1) then (R2 R1)

Control

Circuit
R2

R1

Load

n

P
CLK
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یبندزمان

Clk

t+1

Load (P)

t

t+1PClk

.

t

P

t+1

P

R1R2

T: R2         R1   ,   R1          R2
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Multiplexer-Based Transfers

 Consider

 Which can also be expressed as

 Block diagram?

20)12()10()11( RRthenKifelseRRthenKif 

20:21

,10:1

RRKK

RRK




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Multiplexer Block Diagram

20:21

,10:1

RRKK

RRK




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211)1()71()01( RRRthenKifelseRthenRif 

Control

unit

R2
Load

n

K

R1

MUX

+
n

10

7  (0…0111)

تمرین
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(BUS)انتقال از طریق گذرگاه 



Bus

Busn
n

Bus

.1

.2
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BUSبا استفاده ازMUX

0123

S0S1

S0S1 4 line Bus

4x1

MUXA

B

C

D

Reg SelectedS1 S0

A0     0 

B0     1

C1     0

D1     1

0

1

2

3

0

1

2

3

0

1

2

3

0

1

2

3

4x1

MUX

4x1

MUX

4x1

MUX

MUXMux 0bus

MUX
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BUSانتقال از طریق 

BUS

S1S0BUS

Load 

A B 

:

BUS:

BUS  A   , B  BUS 

B  A
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

Output YInput A

Control C

Y=A c=1

Y=High Impedance c=0

TriState Buffer: حالته3با استفاده از گیتهایBUSپیاده سازی
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

Bus



Decoder

Bus line for bit 0

A0

B0

C0

D0

2x4

Decoder

Enable

S0

S1

TriState Buffer: حالته3با استفاده از گیتهایBUSپیاده سازی
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یا ریزعملیاتیشناپریکرومانواع

:

.1

.2

.3.

.4hift
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انتقال حافظه

:ARDR

Read 

Address Register

DR

Write 

AR M[AR] 

..

:

Read :   ARMDR

Write :    1RARM 
AR

Memory

unit

Read

Write

Data inData out
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یمحاسباتیهایکرواپریشنم





R3  R1+R2  

FA

B0 A0

S0

C0FA

B1 A1

S1

C1FA

B2 A2

S2

C2FA

B3 A3

S3

C3

C4
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:

INCDEC

یمحاسباتیهایکرواپریشنم

R3  R1-R2 بااستمعادلR3  R1+R2+1     

R1  R1-1 R1  R1+1     

HA

x y

C S

A0 1

S0

HA

x y

C S

A1

S1

HA

x y

C S

A2

S2

HA

x y

C S

A3

S3C4
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جمع کننده و تفریق کننده باینری

n
FA

XORM

B3 B2 B1 B0
A0A1A2A3

FAFA

M

S0S1S2S3

C0
C4 C1C2C3

FAFA

M=0    S=A+B

M=1    S=A-B



23

S1

S1

B

B

S1

B

Micro Operatioon

Add

Add With Carry

Sub with Borrow

Sub

Inc

Dec

Transfor

.

یمحاسباتواحدمدار

D= A+Y+Cin 

Fi

S0

S1
0
1
2
3

4x1
MUX

Fi

X0

S1
0
1
2
3

4x1
MUX

Fi

S0

S1
0
1
2
3

4x1
MUX

Fi

S0

S1
0
1
2
3

4x1
MUX

C0

C1Y0

FA

X1 C1

C2Y1

X3 C2

C3Y3

X3 C3

C4Y3

Cin

Cout

A0

A1

A2

A3

S1
S0

B

0
1

S0

B

0
1

S0

B

0
1

S0

B

B
0
1

D0

D1

D2

D3

S0 S1 CIN Y      D

0    0    0   B      A+B

0    0    1   B      A+B+1

0    1    0   B      A+B

0    1    1   B      A+B+1

1    0    0   0      A

1    0    1   0      A+1

1    1    0   1      A-1

1    1    1   1      A

S0
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Logic MicroOperationsیمنطقیهایکرواپریشنم



.

XOR 

OR 

AND 

211: RRRP 

211: RRRP 

211: RRRP 
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یمنطقیهایکرواپریشنپیاده سازی سخت افزاری م

Ei

S1

S0

Ai

Bi

S0    S1

MUX

0

1

2

0    0

0    1

1    0

1    1

S1   S0 OutPut

BAE 

BAE 

BAE 
AE 

3
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های منطقیمیکرو اپریشنیکاربردهایبرخ

Selective Set 

A
B

BAA 

1110

1100

1010A

B)A(

A

selective clear 
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

یفتشیهایشناپریکروم

1  1  0  Si

Si   0  1 1 0  1  1  0

0  1  1  0

Si

Si So

So

یفتشازبعد یفتشازقبل
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یفتشانواع

Logical Shift

Si=0

R2         Shr R2

RTL.

R1         Shl R1
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یفتشانواع

Circular Shift

SiSo

R2         Cir R2

R1         Cil R1
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یفتشانواع

Arithmetic Shift

2 
2 

.

aslRn-1OverFlow.

: 

asr:

Si=0

R n-1           R0

R n-1           R0asl:

Si

R1         asl R

R         asr R

2ضرب در 

2تقسيم بر 

RRV nn 21 

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یفتشیهایشناپریکرومیافزارسختیسازیادهپ

4 

S 1 0 S 1 0 S 1 0 S 1 0

A3A2 A1A0

Serial Input IR

Serial Input IL

S  (select)

0 for shift right

1 for shift left

H3 H2 H1 H0

MUX MUX MUX MUX
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يک قسمت 

از مدار 

محاسباتي

يک قسمت 

از مدار 

منطقي

S1
S0
Bi
Ai

S1
S0
Bi
Ai

Di

Ei

Fi

Select

0

1

2

3

4x1
MUX

Ai-1 Ai+1

S3 S2 S1 S0 Cin

0    0    0   0    0

0    0    0   0    1

0    0    0   1    0

0    0    0   1    1

0    0    1   0    0

0    0    1   0    1

0    0    1   1    0

0    0    1   1    1

0    1    0   0    x

0    1    0   1    x

0    1    1   0    x

0    1    1   1    x

1    0    x   x    x

1    1    x   x    0

F Operation

A+B

A+B+1

A+B

A - B

A           

A+1            

A -1

A

A   B

A   B

A    B

A

shl A

shr A







S2

S3

Ci

Ci+1

: ALU 

د 
لای

اس
23

د 
لای

اس
25

(ALU)واحد محاسبه و منطق 
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(ALU)واحد محاسبه و منطق 



ALU .

ALU

ALU

ALU

ALU 

A
L

U

نتیجه

انتخاب عمل

carry
OV
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نمونه سوال کنکور
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نمونه سوال

ALU

AC  TR

DR M[AR]

IR M[PC]

DR DR+ AC

AR PC

AC DR+ AC

AC M[AR]
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Questions


